Rl R

Il
-~ -
Q ©
S .
I +
- =
[ [
= =
S— S—
[ap} =
I I
-~ -~
©@ ©

® xy=7



© (8, 12) © (5, 13)
@ (-2, -4)
@ 171 ® 270




3.

A

Fotofet.

y=2x+ k% 1O xHHo| -2

Be

tlo



yl\

@ 2 ® 3

@1

[Arl e

—



QA y = ax+6 9] 71871 _g ofeh. th& Z ol A4 919f Aol




® 2 @ 3 ® 6

@ 0






o] Fm7}

]
=

AN F Ay =x-1, y=ax-49 1

R

e

8.

£9

(3, b) & W, ab °] F

® 4 @ 7

@ 0






10. = gAeter y=-2x+6, y=ax+1 9 7} oh& T} 22
U, 5 Tefmstx Z02 Seluel Az Yol
yA
y=—27+6
6 y=az+1
T
—~ 0 2\ 2

@ 4 @ 5 ® 6 @ 8 ® 12



11.

yAHo] 491 o] W Uxpats:
T ), o] YRFEH0] 727

@ 3 @ 4



12. 200L o] E0] 50 =&
& S HEWY7] A2t
o, x 2ty o TAAL? (T,

So 4] 2 Euieh40L A 2o T etk
BEo| g 2o FSyL et @

= 0
o p]u:

Lo

1o

i

@ y=200+40x @ y=200-40x @ y=200+ 20x

@ y =200 - 20x ® y =200 -80x



A x -9y =4 9191 H (k+6, k—6) o]l thato] k gL 3}

@ 7 @ 11 @ 13 ® 15



14. o2 3x-2y+6 = 0] et AT FollA 2]

ok
5

O
-

A

tlo

2

=
T

i

@ y= vt 19 2o met Btk

© A4AEHE Ak g,

© x@l 2 37K W, ke 3 Aok
©® xHMItyHH] T 201,

® LEZ ofgfj2 dof= I molrt.




sholat,

g7

2 A 2] Hol

L

ok W AE Y 19

10, —=y+6=0
9 T

4, 3y=0, 3x-2=

—4x =




@ w
< -
EY /(e
_ [&N]
|
@
PR
Hip
a
—_—
ife]
oo
Q o
© : i
: c H
= © =
70 oo
IO 2>
i T+ N
B w R =y
%ouL N} N ,mw_u
1 N, e’
L M
= oln
= oy
< ofu

o

N7t (m, n) 4 ©, m +n ol 3427

9]

o

® 2

1



17. 5 ARy = (a+ 1)x+3, y = b—2x9 27} A= Ttz
7] fgh 242
®a=-3b#3 @ a#-3,b=3
® a#-3,b+-3 @ a=-2,b=-3

® a#-2,b=3






3
y= a6 22T gjof = B

@ (1, 7) ® (2,9)
® (5, 13)



@ y=-2 ® x=0

DO x=-2

® y=-3

@ x=-3



21.

93} 2ol 71z Zol7} 30em , Azl 2

°17} 20em ¢l AAF2kg ABCD 7} 9lek. & P
7FCE S5l iz 2cm 2] £ 0= BC
g webd B7HK] 21Tk 5H, AABP ]
Wol7} 100em2 7} He AL A prt A o2
UL A E 2§70

©s5x % @623
@ 10xF ® 122 %

A ---30cm- _
/
!
20cm|
‘\
p
® 8z %




22,

1
ot oA ] = A Ay =x+2,y = ix—l,y:ax—kb

£ 2318 U, Al 4402 Bl 42o] 4717 7] At a o)
e BE Fafola

5 J=X
=%
5 S

=%



Aty =ax+6 9 I} Z7F -1 < x <3 2] HANA & y>0
2w, o gte] WIS Fotel

Be
=



~

Qo] = & A(2, 5), B(-4, -5) ol tgte], H A &
A, A B E x 5ol Histe] tiFels

B’ ] ol ol SEekE M4 3,

-
-_‘LT

Z]
=

_?L

tlo tlo &

o
=



Ay —x+49y= 20489 x ZT| LS 242 A, B 2
T F A4 BHES C 2 T, A CF AT aABC HolE 2
Rk 24 CD o WAL

25.

o[t ok

O y=x-4 @ y=x+4 ® y=4x

@ y=4x+3 ® y=4x-2



